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1: 1 HELIIZOFBEICEDISVDDEIETHFELEL=D, Q1 What was the percentage of your
attendance in the course? (IBla=-BHIZoWWTOEMB][About Yourself]) [ EBIR=E: 4 FIR 1]
mEEES [EE A% LR il BEESR |£2FFEHR

1 1. 100-90% 267 4 3.9 3.8

2 2. 80—-70% 24 3

3 3. 60-50% 1 2

4 4. Less than 50% 3 1

a&t 295

2: B2 &SIk, COBEISEAETICHELE-BEISEENLSLTTH, Q2 What was the percentage of

your punctual attendance in the course?

([BEF-BEIZDLTHEM ) About Yourself]) [ BiIRK: 4 &

R 1]
REES BES A Bl /R HBEESR [£22THR
1 1. 100-90% 274 4 3.9 3.8
2 2. 80-70% 18 3
3 3. 60-50% 1 2
4 4. Less than 50% 3 1
a&t 296

3: 13 BEICEIEAMNICERYBEHAELI=HM., Q3 You actively participated into the course.([#&H%f-B &IZ
22LZTOERI][About Yourself]) [ EIR=E: 4 FiR 1]

mREEE =R A¥ it HBRTEYR [£2FFHA
1 1. I8<{ZF5 R8> |(Strongly Agree) 164 4 35 3.3
2 2. TZ585 1(Agree ) 110 3
3 3. [F58 %0\ |(Disagree) 17 2
4 4. [ FE->1={ZF>5B 1%\ |(Strongly Disagree) 2 1
&=
=Xl 293

4: B4 BLE~AOEME. HBEDOAZ2=Fr—a3 % EYELT=D. Q4 You communicated with the
lecturer(s) by asking some questions or other in the course. ([H7E-BHHIZDUL\TO HE][About Yourself]) [
EIRK: 4HR 1)

mREEE [EE= A# it HBRTEYR [£2FFHA
1 1. [58<Z 585 I(Strongly Agree) 121 4 3.3 2.9
2 2. 12585 1(Agree ) 136 3
3 3. [Z5B 7Ly I(Disagree) 33 9
4 4. TES1=KF5B %L |(Strongly Disagree) 2 1
&5t 292

5: 15 BLEDERIEFELLLEL=D., Q5 You made good preparations about the course. ([H%1-H & IZ
DLTHER ][About Yourself]) [ BR=H: 4 HiR 1]

BREEE B A¥ LRl BEEYR |2FFEHR
1 1. M58<Z 585 I(Strongly Agree) 106 4 3.2 28
2 2. 12585 |(Agree ) 141 3
3 3. 258 %LV I(Disagree) 44 2
4 4. T FE>1={F5 B 1%LV I(Strongly Disagree) 4 1

At

295




6: 6 BEDEEELLELI=H. Q6 You made reviews well about the course.([HET-BHEIZDLVTD
E ™ )[About Yourself]) [ ZR=: 4 HFiR 1]

REES [EE-3 A# ALl BEESR |2FFEHR
1 1. [58<Z 585 I(Strongly Agree) 73 4 2.9 28
2 2. TZ585 I(Agree ) 148 3
3 3. [Z5B 7L\ |(Disagree) 56 9
4 4. [FE->1={FS5B 750\ (Strongly Disagree) 17 1
At 294

7: 7 VSNRET.BEOBMN. AR, ESEMOEE (LB REINFEL=H. Q7 The objective,
contents, criteria for the grades were appropriately shown in the syllabus or other. ([{BE LA IZDLVTDE
f5J[About the Lessons and Lecturer(s)]) [ :BiIR=X: 4 HIR 1]

BEES Bk AR Fifi = BREYR [£FFE¥R
1 1. N58<Z 585 I(Strongly Agree) 148 4 3.4 3.3
2 2. TZ585 |(Agree ) 134 3
3 3. 5B H7EL I(Disagree) 9 2
4 4, T FE-71={ZF5B 1%L\ |(Strongly Disagree) 4 1
a&t 295

8 : I8 TBEDARIXIINADABREMIGLTLVELT=H . Q8 The actual contents in the lessons were
corresponding to those in the syllabus. ([1Z£ LB IZDWVTD BRI [About the Lessons and Lecturer(s)]) [
EBiR: 4 EIR 1]

REES [EE=3 A¥ Ealilad BREYR [£2FFE¥R
1 1. N58<Z 585 I(Strongly Agree) 157 4 3.5 3.3
2 2. TZ585 |(Agree ) 120 3
3 3. [Z5 B 7Ly I(Disagree) 12 2
4 4. T ES1=KZFS5B D% |(Strongly Disagree) 5 1
a&t 294

9 : 19 BEBMBIIFTLICHEREINTLVEL =D, Q9 The number of lessons was appropriately
maintained. ([2ELH 8 (2D TO BRI 1[About the Lessons and Lecturer(s)]) [ #BIRK: 4 FIR 1]

mREEE =R A¥ il R BREESR |£2FFEHR
1 1. I58<{ZF5 R8> |(Strongly Agree) 179 4 3.6 34
2 2. TZ585 1(Agree ) 102 3
3 3. #5870V I(Disagree) 6 2
4 4. TE>1={F5 B 1%LV I(Strongly Disagree) 4 1
A=
=Xl 291

10 : 10 BEAROHMZEILEY) T, BT REASHETL/=H, Q10 The contents was appropriate in
terms of difficulty. ([ EHEIZDWTDHOHR][About the Lessons and Lecturer(s)]) [ BiRH: 4 HFiR 1]

mREEE [EE= A# it HBRTEYR [£2FFHA
1 1. N58<Z 585 I(Strongly Agree) 160 4 35 3.2
2 2. 12585 1(Agree ) 124 3
3 3. [Z5B 7Ly I(Disagree) 9 9
4 4. [ FE->1={ZF>5 8% |(Strongly Disagree) 1 1
&5t 294

11 : B BEICHELGFREEREBEIZEATVEL=D . Q11 You had already learned the necessary
prior knowledge before the course. ([1B3 LB (ZDULVTO BRI [About the Lessons and Lecturer(s)]) [ 3#iR

A:4FR1]
EEES [EE= A# il R BEESR |2FEHR
1 1. I58<Z 585 I(Strongly Agree) 91 4 3 29
2 2. TZ585 I(Agree ) 130 3
3 3. 25872y I(Disagree) 62 9
4 4. [FE>1={FS5B 750\ |(Strongly Disagree) 10 1
At 293




12 : f12 HEEEBEICKVANLGRIBZRZIT., SHICEET 0 BHEFATAH=VDERNELED, Q12
You would like to study the academic field related with the course by being intellectually stimulated. ([$23&

HEIZDLTDER)[About the Lessons and Lecturer(s)]) [ :BIR=: 4 FIR 1]

REES [EE-3 A# ALl BEESR |2FFEHR
1 1. 58 <F 58S I(Strongly Agree) 158 4 35 3.1
2 2. TZ585 I(Agree ) 119 3
3 3. TZ5BHA I(Disagree) 12 2
4 4. TFEo1={ZF5 B 7LV I(Strongly Disagree) 6 1
At 295
13 : (13 BEABITHERTLED, Q13 The course was useful for you. ([{23 L& B 2D
TDHERI][About the Lessons and Lecturer(s)]) [ BIR=K: 4 FiR 1]
mEEES [EE A% Falilat BEEYR [2FFHR
1 1. I58<F 58S I(Strongly Agree) 189 4 3.6 3.3
2 2. #5855 (Agree ) 89 3
3 3. 25 B H7L I(Disagree) 10 2
4 4. TFEo1={ZF5B 7LV I(Strongly Disagree) 6 1
At 294

14 : 14 Bk, FHEE-HEBEEFEZEATIREDES. ELVAITHRMTLIZ,, Q14 The blackboard,
audio—visual and/or IT equipments were effectively used in the case (if applicable). ([ RZE LZHE(IZDL\THE
f1[About the Lessons and Lecturer(s)]) [ ;Z#IRN: 4 FR 1]

REES EES AH Bl = HBETEYR [£2FFHR
1 1. M58 <Z 585 I(Strongly Agree) 130 4 3.3 3.2
2 2. TZF585 |(Agree ) 136 3
3 3. 25 B %LV I(Disagree) 19 2
4 4. [FE>1={FS5B 750\ (Strongly Disagree) 8 1
A&t 293

15 : 15 TERRNOTYUMNEEDHBBIBH FIRERNBLEMTIDOIC/ILELD, Q15 The textbook
and/or other handouts were useful for you to understand the contents in the course. ([23( LB IZDULVTD
E 5 1[About the Lessons and Lecturer(s)]) [ IR : 4 HIR 1]

RZEES B AE 5l = BEENR [£FTFHR
1 1. M58<Z 585 I(Strongly Agree) 160 4 35 3.3
2 2. 12585 |(Agree ) 121 3
3 3. 25 B %LV I(Disagree) 11 2
4 4. T FE>1={F5 B 7%V I(Strongly Disagree) 1 1
At 293

16 : 16 /—FOAEITEYAPTIM>=TTH, Q16 It was easy for you to take notes in the course.([1BZ
EHBIZDOWWTHOER][About the Lessons and Lecturer(s)]) [ iR : 4 HFIR 1]

BREEE B A¥ LRl BEEYR |2FFEHR
1 1. M58<Z 585 I(Strongly Agree) 111 4 3.2 3.1
2 2. 12585 1(Agree ) 149 3
8 3. 2587l (Disagree) 30 7
4 4. T FE>1={F5 B 1%LV I(Strongly Disagree) 4 1
&5t 294

17 : 17 HEBEOE. ELAREZIMYAPT Mo=TTH., Q17 It was easy for you to hear the lecturer’ s
voice and the manner of speaking. ([{2% L8 8 2D TOHOE R ][About the Lessons and Lecturer(s)]) [ &R

H:4FR1]
BREEE B A¥ LRl BEEYR |2FFEHR
1 1. M58<Z 585 I(Strongly Agree) 176 4 3.6 3.3
2 2. TZ2585 |(Agree ) 103 3
3 3. N Z5E H7EL I(Disagree) 9 2
4 4, T FE-71={F5B 1%L\ |(Strongly Disagree) 2 1
&5t 290




18 : 18 BETEMINSEELHRNAFASATLOELT=D, Q18 The lecturer(s) emphasized the
important points to be understood in the course. ([ EEZHBIZDWL\TOHO EHB[About the Lessons and
Lecturer(s)]) [ BIRN=K: 4 FR 1]

REES [EE-3 A# iR BEESR |2FFEHR
1 1. 58 <F 58S I(Strongly Agree) 168 4 35 3.2
2 2. 12585 1(Agree ) 108 3
3 3. 258 H7EL) I(Disagree) 12 2
4 4. [FE>1={FS5B 750\ |(Strongly Disagree) 3 1
&=
S&t 291

19 : 19 HEBFPEICEE~AOSM(RELLE)ZRL, HROHBICHEAITHELTULELT=D, Q19 The
lecturer(s) responded to students’ questions and/or discussions by promoting their participation. ([$23 &£ 8
(22T O ERE ) [About the Lessons and Lecturer(s)]) [ IR : 4 HIR 1)

REES EE A# Bl = BEESR [£2FFHR
1 1. I58<F 58S I(Strongly Agree) 190 4 3.6 3.2
2 2. TZ£585 |(Agree ) 90 3
3 3. 258 7Ly I(Disagree) 9 2
4 4. [FE>1={F5 B 7%\ I(Strongly Disagree) 4 1
At 293

20 : 120 HET=ITE->T. BEDEAFIEILGTELDTLI=H . Q20 The way of proceedings was
appropriate for you. ([12F LB (DL TDERM J[About the Lessons and Lecturer(s)]) [ ZIR=: 4 FHiR 1]

REES EE= A Falilat HBETEYR [£2FFHR
1 1. M58 <Z 585 I(Strongly Agree) 162 4 35 3.2
2 2. 12585 |(Agree ) 111 3
3 3. 25 B %LV I(Disagree) 13 2
4 4. [FE>1={FS5B 750\ (Strongly Disagree) 8 1
A&t 294

21 : f121 HEF=ITELT, BEEEBKEKRBLEDTLI=M, Q21 The course was interesting for you.([{Z% &

HEIZDOLTDER)[About the Lessons and Lecturer(s)]) [ :BIR=: 4 HR 1]

REES Bk AE LRl BREEYIR [£FFHR
1 1. [58<Z 385 I(Strongly Agree) 175 4 35 3.2
2 2. 2585 I(Agree ) 99 3
3 3. [F5B %L\ I (Disagree) 11 2
4 4. T FE>1={F5 B 7%\ I(Strongly Disagree)4 7 1
ait 292

22 : 22 BEICHTIHEOBREEZRELEL=H. Q22 You felt the lecturer’ s sincerity in the course.([1%
R EHBIZOWTOHERM][About the Lessons and Lecturer(s)]) [ BIRNK: 4 HFIN 1]

REES Bk AE LRl BREEYIR [£FFHR
1 1. M58<Z 585 I(Strongly Agree) 198 4 3.6 34
2 2. 12585 |(Agree ) 84 3
3 3. 25 B H7L I(Disagree) 7 2
4 4. T FE>1={F5 B 1%LV I(Strongly Disagree) 3 1
A&t 292

23 : 23 REMICHELT, COBEISHERLEL=M. Q23 Comprehensively evaluating, you were
satisfied with the course ([#2% &£ B I DWLVTHOER][About the Lessons and Lecturer(s)]) [ #R=K: 4 FH

w11l
BREEE B A¥ LRl BEEYR |2FFEHR
1 1. M58<Z 585 I(Strongly Agree) 184 4 35 3.2
2 2. 12585 |(Agree ) 95 3
3 3. N Z5E H7EL I(Disagree) 9 2
4 4, T FE-7={F5B 1%L\ |(Strongly Disagree) 8 1
&5t 296




